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e e PABE | 61 1 2 1 2 1 1 2 1
FRLIS EBAE| 98 - - 5 1 - - - 4
16 EBFE | 61 1 1 1 2 1 2 - 1
JEBGE | 95 - - 5 1 _ - = 2

17 JEHBFE | 56 1 1 1 1 1 2 - 1
JEBAE | 97 - - 5 1 _ - = 2

18 JEHBFE | 56 1 1 1 1 1 2 - 1
JEBAE | 93 - - 5 1 _ - = 2

19 JEBFE | 58 1 1 1 1 1 2 - 1
JEHBAE | 94 - - 5 1 _ - = 2
20 JEHBFE | 55 1 1 1 1 1 2 - 1
JEBAE | 91 - - 5 1 _ - = 2

91 JEHBFE | 56 1 1 1 1 1 2 - 1
JEBSE | 90 - - 5 1 _ - = 2
99 JEHBE | 57 1 1 1 1 1 2 - 1
JEHBAE | 92 - - 5 1 _ - = 2
93 JEHBE | 57 1 1 1 1 1 2 - 1
JEBGE | 96 - 1 4 1 _ - = 2
04 JEHBE | 57 1 1 1 1 1 2 - 1
JEBAE | 97 - 1 4 1 _ - = 2

05 HBFE | 57 1 - 2 1 1 2 - 1
JEHBAE | 95 - 1 4 1 _ - = 2

26 JHBFE| 58 1 - 2 1 1 2 - 1
JEHBAE | 94 - 1 4 1 _ - = 2

97 JEHBFE| 58 1 - 2 1 1 2 - 1
JEHBAE | 94 - 1 4 1 _ - = 2

08 JHBFE| 58 1 - 2 1 1 2 - 1
JEHBAE | 94 - 1 4 1 _ - = 2

29 JHBFE| 58 1 - 2 1 1 2 - 1
JEBAE | 92 - 1 4 1 _ - = 2
30 HBFE | 57 1 - 2 1 1 2 - 1
JEBGE | 95 - 1 4 1 _ - = 2

= JHBFE| 56 1 - 2 1 1 2 - 1
JEHBAE | 94 - 1 4 1 _ - = 2

) HBFE | 57 1 - 2 1 1 2 - 1
JEHBAE | 94 - 1 4 1 _ - = 2

3 JHBFE | 60 1 - 2 1 1 2 - 1
JEBAE | 93 - 1 4 1 _ - = 2

4 JEHBFE | 56 1 - 2 1 1 2 - 1
EFGE | 86 - 1 4 1 - = = 1

5 JHBEE| 57 1 - 2 1 1 2 - 1

EBEE| 91 - 1 4 1 -
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